20

10

-10

20

10

-10

20

10

-10

T
1

T IIIIIIIIIIIIIIIIIII IIIIIIIIIIIIIIIIIIIII

I\
TF Torques
Shot: 2571, Param. Tree 72
IDL: Max=1.26086, Min=-13.8656
TF SS and OoPM, Top_Torsional_Sheer_Stres circular)
DCPS: Max= 1.2608569, Min=-13.865624
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= TF Torques 3
E Shot: 2571, Param. Tree 72 g
- IDL: Max= 1.26148, Min= -11.6906 3
= TF SS and OoPM, Top_Torsional_Sheer_Stress (post. dis., circ.) 3
= DCPS: Max= 1.2614838, Min= -11.690605 =
=151 o __________ =
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E TF Torques 3
= Shot: 2571, Param. Tree 72 3
- IDL: Max= 1.26156, Min= -11.4266 3
g TF SS and OoPM, Top_Torsional_Sheer_Stress (post. dis., shaped.) g
E DCPS: Max= 1.2615599, Min= -11.426567 =
161 _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ __ __________________ =
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TF Torques

Shot: 2571, Param. Tree 72

IDL: Max= 2.02830, Min=-0.129197

TF SS and OoPM, Mid_Torsional_Sheer_Stress (normal, circular)
DCPS: Max= 2.0283041, Min=-0.12919701
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E_IDL: Max= 1.95818, Min=-0.129058

g TF SS and OoPM, Mid_Torsional_Sheer_Stress (post. dis., circ.)
- DCPS: Max= 1.9581829, Min= -0.12905837
F1s2 . _ ________________________™
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E TF Torques 3
= Shot: 2571, Param. Tree 72 3
E IDL: Max= 1.95822, Min= -0.129025 3
E TF SS and OoPM, Mid_Torsional_Sheer_Stress (post. dis., shaped.) g
= DCPS: Max= 1.9582170, Min=-0.12902521 3
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- TF Torques — 3
= Shot: 2571, Param. Tree 72 3
= IDL: Max= 0.100597, Min= -9.32181 =
= TF SS and OoPM, Bot_Torsional_Sheer_Stress (normal, circular) =
E DCPS: Max= 0.10059697, Min=-9.3218124 g
E143 o __________._ =
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- TF Torques — 3
E Shot: 2571, Param. Tree 72 g
- IDL: Max= 0.00392601, Min=-9.32175 3
= TF SS and OoPM, Bot_Torsional_Sheer_Stress (post. dis., circ.) =
E DCPS: Max=0.0039260122, Min=-9.3217481 g
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TF Torques

Shot: 2571, Param. Tree 72

IDL: Max= 0.00414693, Min=-9.32193

TF SS and OoPM, Bot_Torsional_Sheer_Stress (post. dis., shaped.)
DCPS: Max= 0.0041469255, Min=-9.3219305

IIIIIIIIIIIIIIIIIIIII IIIIIIIIIIIIIIIIIIIII




4010% — —
2¢10%— —

I~ TF Torques
| Shot: 2571, Param. Tree 72
0l_IDL: Max= 196.962, Min= -546.920

- TF SS and OoPM, Total_OL_OoPM (normal, circular) -
~ DCPS: Max= 196.96199, Min=-546.91801 ]
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I~ TF Torques
: Shot: 2571, Param. Tree 72
0 IDL: Max=196.983, Min= -546.719

- TF SS and OoPM, Total_OL_OoPM (post. dis., circ.) -
~ DCPS: Max= 196.98248, Min=-546.71658 7]
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- TF Torques
| Shot: 2571, Param. Tree 72
0l_IDL: Max= 196.962, Min= -546.920

- TF SS and OoPM, Total_OL_OoPM (post. dis., shaped.) -

~ DCPS: Max=196.96199, Min=-546.91801 7]
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Fault Starts: 0.60690815 - -~ -
Fault Ends: 3.4306771

TF Torques
Shot: 2571, Param. Tree 72
IDL: Max= 379005., Min= -1.. 514e+06/\

TF SS and OoPM, —OoPM (normal, circiNar)
DCPS: Max=-379005.03, Min= -1185138.9
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F -Starts: 0.48288087 — — -
Fault Ends: 3.4916792

TF Torques
Shot: 2571, Param. Tree 72
IDL: Max= 378769., Min=-1. 414e+06/\

TF SS and OoPM, — OoPM (post. dis., ci
DCPS: Max=378768.83, Min=-1514136.4
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F -Starts: 0.46928149 — — -
Fault Ends: 3.4978783

TF Torques
Shot: 2571, Param. Tree 72
IDL: Max= 378739., Min= -1. 952e+06/\

TF SS and OoPM, — OoPM (post. dis., shaped.)
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~Starts: 0.41708198 — — -
Fault Ends: 3.5234782

TF Torques
Shot: 2571, Param. Tree 72
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TF SS and OoPM, er_Outer_OpPM (normal, circular)
PCPS: Max=347524.37, Mir==17693251 — -\ —~ — - — — — — — — —
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FaultStarts: 0.50588133~ — ~
Fault Ends: 3.4804765

TF Torques
Shot: 2571, Param. Tree 72
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TF SS and OoPM, er_Outer_OpPM (post\dis., circ.)
E-DCPS: Max=-347718:56, Min=—14412877 — -\ - — — — — — — — — —
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: 3.4884778

TF Torques
Shot: 2571, Param. Tree 72
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Dl ax=247880 Min— 1
TF SS and OoPM, er_Outer_OpPM (post\dis., shaped.)
BCPS: Max=347689:33, Min==14965506 - -\ ~ - - — — — — — — —
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Fault Starts: 0.43368120

6 3
" Fault Ends: 35186759 |\ —
E ~T h
-1010°E- =
= TF Torques 3
-2¢10° E-Shot: 2571, Param. Tree 72 =
E IDL: Max= 1.73028e+06, Min="-360881. E
-3¢10°E-TF SS and OoPM, Upper_Outer_OpPM (normal, circular) =
E DCPS: Max=1730279.7, Min= -360881.02 3
2 B =
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-4 -2 0 2 4 6

time

E T T T T T T T T T T T 3
6§ Fault Starts: 0.52368089 E
" Fault Ends: 3.4750767 /4 \ —
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= TF Torques 3
-2¢10°E-Shot: 2571, Param. Tree 72 =
E IDL: Max= 1.41156€+06, Min="-361070. E
-3+10° ;—TF SS and OoPM, Upper_Outer_OpPM (post. dis., circ.) —z
E DCPS: Max=1411559.0, Min= -361069.70 E
A 10CE15F © - — - - - - e =
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65 Fault Starts: 0.50628095 3
"OFFault Ends: 3.4842769  / \ —
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-2¢10° E-Shot: 2571, Param. Tree 72 =
E IDL: Max= 1.46564e+06, Min="-361038. E
-3+10° E—TF SS and OoPM, Upper_Outer_OpPM (post. dis., shaped.) —z
E DCPS: Max=1465642.7, Min= -361037.67 E
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